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INSTRUCTIONS TO CANDIDATES

l. &‘rnc‘ \o}u .Il:lllll‘ and \sws:\mcnl number in the spaces prov 1ded above.

2 Write the mame and code of Your school in the spaces provided

3. Sign and write the date of the assessment in the spaces provide %

f. This question paper consists of TW O sections: Aand B.

- Answer ALL the questions in section A on the separate ANSWER SHEET provided.

6. Answer ALL the questions in section B in the SPaces provi this QUESTION PAPER.
7. Show all the workings in section B in the spaces provide

g. Non-programmable calculators may be used., except w otherwise.

Gi\ ¢ non-exact numerical answers, correct 10 3 significa
of accuracy is specified in the question.

10.  For @ use cither the caleulator value or 3.142.

1. Do NOT remove any page from this question pajer.
12. Answer ALL the questions in English,

ure and one decimal place for angles in degrees, unless a different level

SECTION A (20
1. You have been given this question paper a arate answer sheet. Answer All the questions in Section A on the separate answer
sheet provided.
2. When you have chosen your answ@il on the ANSWER SHEET, not in this question paper.
S

HOW TO USE THE ANSW
3. Use an ordinary HB pencil.
4. Confirm that the answer sh have been provided with has the following:
- YOUR ASSESSMENT B R
-YOUR NAME
- NAME OF YOU
- NAME OF TH
5. Keep the answer sh

lean, dry and DO NOT fold it.

6. For each of thgquestions 1 — 20, four answers are given. The answers are lettered A, B, C and D. In each case. only ONE of the four
answers is cofizct. Choose the correct answer.
7. On the an

stidg!. the correct option is to be shown by drawing a dark line inside the box in which the letter you have chosen is
written.

Exa In the Question Booklet:

14. Wo ut:
9--12)
\ 21 B. 21 C.3 D.3

correct answer is D.

the answer sheet. in the set of boxes given for number 14, draw a dark line inside the box with the letter D printed in it as
mdicated below.

14.[A] (B] €]

(124
Your dark line MUST be inside the box.10.For cach question, ONLY ONE box is to be marked in each set of four boxes.

For official use only

ECTION B (80mks)
uestion 21 |22(23124]25]26|27) 28]29 (30 [31 3233 34]35] 36|37 38]39] 40
Maximum Score |2 |3 |S[2 |4 [4]|S [3 |34 [3]4]4]5]3 14 81464 1
Candidate’s Score = | y L—— -_,_.:JL, il

This paper consists of 8 printed pages.

Candidates should check the question paper to ascertain that all the pages are printed as indicated and that no questions are
missing.
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SECTION A (20mks)

. What is the total value of"digit 9 in the number
(0.3497
A. Ones. B. Tenths.
C. Thousandths. D. Hundredths

2. What is the possible solution of the question
written below?
(-16) +5-(-6)

A -15 B.-3
C-17 D. 15
3. Solve for the value of n:
1
n 27
A3 B.9
C.3 D.
9

4. Using tables evaluate the following:
bl

.69
A 10.202 B. 10202
C.10.204 D 10204

hn

A farmer has 30 amimals which are cows, goats
and sheep. If the number ot goats and sheep 1s
12 and 7 respectively. Represent the number of
cows using tally marks.

A HH HH| B HH|
CHHHHIL P A

6. The diagram below shows a parallelogram
PQRS. Find the value of angle PQR.

P Ny N
i \
Sv- 13 -JF\
2 a R
A30 B. 130
. 100 D 133

7. During the ammal vaccinanon exercise. o
veterninary doctor used a syringe that has a

diameter of 0.082em. How many signiticant

figures was the diameter?’
\2 B.3
C.3 D4

8. A wooden cube has a volume of 0.4789¢em’
What is the length of one side?

(to 4d.p)
A. 0. 1098 B. 01093
C. 07824 D 07823

'W-005

9. A road that is 2.5km was drawn on a [')lu._‘rc ml
paper. The length of the road drawn measurec

Sem. Determine the scale uscd.

A 5:2 B. 150,000
C.Iv' 0.5 n 52500

10. 1f9 men. working for & hours < day can QIg a
drainage pit in 12 days. how long would 1t 1ake
6 men working 9 hours a day 10 dig the samc
dramage pit’
A 9 davs
(.20 days

11. A drop of blood was

n

B 13 5 davs
D. |16 davs

racorded a~ 1.000015mm

Express the drop of plood n sla;dard rorm
A A0 g 510
C 1610 D 1A=10

12. Determine the common logarthm of 100.000
AC10 B 4

C. 3 D.100.000
T ' i <has > rad ()
13. Nvamisa had visitors and she prepared -

S ~hAanarn 3 RS
- chapatis anad Iicit

chapaus. The visitors a2 |

the rest. What ratio represents the number o
chapatis eaten by the visitors
Al 34 B 12
C 1520 D 124
14. A bathroom window 1= m the shape of 2
regular polvgon Each o7 interor angle of the
window pane 1= [O8 Calculare the oumber
of sides ot the window pane
\.6. R~
C = D4
15, What s the supplementan of the anale mara g
Y
=i
i
=
\ \
\ 70 B. 140
.30 D 40

16. A cortaim farm measures 20m by 33m
Flowers were planted in the tam leav

path of 130¢m all round the rarm. What s

area ot the prece of land where the 1
were planted?
A T00m
oS4

B 12ddm
I\ o ld TR
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17. A certain train moves at a speed of 140km/h. What 1s the speed m m's?

A.38.8Yms B.14m/s C. I18ms D. 36m s
18. A mcceting ended at 1600hrs and lasted 3 hrs 45 minutes. At what time had the meeting begun”?
A 1.00pm B.12.15pm C.12.55pm D. 1945hrs

19. By selling an item at sh 6000, Omollo made a profit of 20%. How much will he sell the same item 1o

make a prohit ol 30%,?

AL 3000 3. 7800 . 9000 D. 6500
20. Convert the number 0.00346 correct to four significant figures.
A 03406, 3. 0.003460 C.0.00346 D. 3460

SECTIONB (80mks)
21, Work out (2 mks)

TN 6O -4
S4207117 =2

1S

The top of a tent s in the shape of a cone. It has a height of 3mand a slanting height of 7m. Workout

volume (Use T=3.14) (3mks)

(]
12

The cash price of a refrigerator is sh 50000. Nyambura bought it at cash price and she was given a 20%,
discount but Ntabo bought it on higher purchase terms. He paid a deposit of sh. 20000 and the remaining

~
9% ]

amount was paid in 5 months each month sh. 10000.

a) How much did Ntabo pay for the fridge? (2mks)
b) How much more than Nyambura did Ntabo pay? (3mks)
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24 A car starts from rest and reaches acceleration

no\v : . \ o . (&
avelocity of 10m/s after § seconds. Determine th ’
(2mks)

" : uni N o water tank 5. tap B can fill
25. In the Kitehen of Busara junior school there are 3 taps. Tap A can fill a water tank in Ohrs, tap -
1 .. : . t ' TR ¥ darc O cned @ v

the same tank in 4hrs while tap C can empty the same tank in 8hrs. If all the three taps arc op

: k
same time. How long will it take for the tank to be full? (4mks)
|
1
|
26. Workout the surface area of the closed cylinder drawn below. (4mks)
40cm

27. Construct triangle XYZ such that XY =9cm, YZ=7.5 CM and XZ= 10.5 cm. Construct a circle passing
through the vertices XYZ and measure the diameter. (5mks)
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28. Using L.C.M workout:
orkout; Pmks)

Ix+4 +2
+ — =

3 4

29. On the space provided solve the following linear inequality to find the valuc of X and Y (3mks)
Y=2x+|
Y=-x+4
30. Solve the following inequality and represent it graphically. (4mks)
x+12=15
31. Carol covered a distance of 240km in 4 hrs. What was her speed in metres per second? (3mks)
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32 he { v \
I'he ll,',lll\ below shows a |“”'|||“}’|AIIH Caleulate 1ts aren
em
/ |
/ |
I YSem
/ '/
/ '
:.IZ“:_” - - (/
Wem
RRE

\ chapatiis perfeetly round with a radius of 20¢m.
D W hat s the area of one shice 1f the chapati is cut into 8 equal shees”

b) What is the arc length of each chapati slice?

34. Determine the volume of the frustrum of the cone shown below.

45cm

35, A shoe cos: sh. 000 last year. This year it costs 1150.
a) Find the percentage increase.

TW-005 6

™

(4mks)

|
|
|

‘l'n‘l 5

(2mk~,

(S5mks)

(Imk)
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b) It the trend continues, what will be the cost next vear? (2mks)

36. A bag has 6 red 4 blue and 2 green marbles.
a) What fraction are red marbles?

b) What s the probavility of picking a green narole’

¢) If one red marble is removed. what is the new fraction of red marbles’ (2mks
37. a) Write Log, 81 =4 in index form. (2 mks)
b) Use mathematical tables to find: -
| ‘ 3 1> MKs
(1) The lTogarithm of 0.02963.
- -
(i) The cube ol 39.46
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8. A movic starts at 6:40 pm and ends at 9:15 pm.
a) How long does the whole movic take?

(Imk)
b) I there was a 1S minutes break. What is the actual movie length? (I'mk)
¢) What time in 24 hour clock system will it be 30 minutes after the movie ends? (2mks)

39. Ann purchased a picce of land for ksh. 280000, in 3 ye

urcha ars the land appreciated at a rate of 0% per
ycear. Calcu atc:

a) The price of the land afier 3 years.

(4 mks)
b) By how much money did the land appreciate in 3 years? (2mks)
#0. |hic figure below shows a square based pyramid. One side of the square is 12¢m and the slant height 1s
I em Calculate the total surface area. (dmks)

I ot
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